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Question: 72

A customer needs to aggregate uplink ports from two Virtual Connect interconnects to increase bandwidth and availability of the
networks configured for HPE Synergy platform.
Which steps must the integrator perform in the configuration to meet the customer’s needs?
A. Connect Satellite modules using Ports L1 and L4
B. Connect Ports Q7 and Q8 on the Master interconnect Modules (ICM)
C. Install Redundant Frame Link Modules and a second management ring
D. Enable Intelligent Resilient Fabric (IRF) on the Virtual Connect Modules

Answer: A

Question: 73

Which component of the HPE Synergy solution should you use to set the firmware/driver baseline and the installation method for
Synergy Compute nodes?
A. Composer
B. Smart Update
C. Image Streamer
D. Global Dashboard

Answer: B

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=c05212310
Question: 74

Which storage solution can be used for volume provisioning using HPE Composer?
A. MSA 2040
B. HPE StoreEasy 1560
C. HPE 3PAR StoreServ
D. HPE XP7 Storage

Answer: C

Reference: https://www.karma-group.ru/upload/iblock/30b/hpe_synergy_composer.pdf
Question: 75

An integrator prepares deployment documents with the list of all the hardware and software components. The integrator also needs a
list of all infrastructure services deployed, with the functionality described.
Which services are provided by the vCenter Server component and should be placed in the report? (Choose two.)
A. Auto Deploy
B. Single Sign-On
C. Update Manager
D. Lookup Service
E. Certificate Authority



Answer: CD

Question: 76

A customer needs to evaluate Image Streamer as Proof-of-Concept (PoC) in a test and development tab environment.
At a minimum, what does a Synergy integrator need in order to support this requirement?
A. a three-frame environment with redundant composer and Image Streamer appliances
B. a single frame with single composer and Image Streamer appliances
C. a two-frame environment with single composer and Image Streamer appliances
D. a single frame with redundant Image Streamer appliances

Answer: B

Question: 77

An integrator is installing three Synergy frames in different locations for a customer. As part of the installation, the customer requests a
single monitoring dashboard that shows the current hardware status, warranty status, and open support cases of all three frames.
Which configuration steps must the integrator perform to provide the customer with this functionality?
A. Enable Remote Support and Insight Online Integration in the Composer UI
B. Install Insight Remote Support Advanced, and integrate it with HPE Global Dashboard
C. Configure OneView with iLO Amplifier pack
D. Activate iLO Federation on all installed compute nodes

Answer: C

Question: 78

What are valid uses for an IPv4 address pool when configuring an HPE Synergy solution? (Choose two.)
A. assignment of IP addresses for NICs in an operating system
B. assignment of IP addresses for Composer appliances
C. assignment of IP addresses for PXE booting to a deployment server
D. assignment of IP addresses for interconnect modules
E. assignment of IP addresses for iLOs

Answer: DE

Reference: https://techlibrary.hpe.com/docs/synergy/shared/setup_overview/index.html
Question: 79

Which policy can an integrator apply when creating a datastore using HPE OneView for vCenter Server?
A. Data at Rest encryption policy
B. Round Robin load balancing policy
C. Recovery Manager Central policy
D. virtual machine Restart policy

Answer: C



Question: 80

Refer to the exhibit.

How should an integrator pair interconnect bays to set up redundant fabrics in an HPE Synergy 12000 Frame?
A. Interconnect bays 1 and 2; bays 3 and 4; bays 5 and 6.
B. Interconnect bays 1 and 6; bays 2 and 5; bays 3 and 4.
C. Interconnect bays 1 and 4; bays 2 and 5; bays 3 and 6.
D. Interconnect bays 1 and 3; bays 2 and 4; bays 5 and 6.

Answer: C

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/c04815113.pdf
Question: 81

Refer to the exhibit.



An integrator needs to add an FCoE connection to the server profile, but the FCoE connection type is not available.
What is the likely cause of this issue?
A. FCoE capable interconnect modules are not installed in the Synergy frame
B. Defined FCoE network is not associated with a SAN or does not have VLAN Id defined
C. A FCoE connection is not available, as there is no LIG configured for FCoE connectivity
D. The FCoE connection has not been added as a Fibre Channel connection within a server profile

Answer: D

Question: 82

In a 3-frame HPE Synergy environment, how should an integrator place the image Streamer modules to allow for redundancy to all of
the management connections?
A. one Image Streamer module in frame 2, and a second Image Streamer Module in frame 3 (2 total)
B. two Image Streamer modules in frame 2, and two Image Streamer modules in frame 3 (4 total)
C. one Image Streamer module in each Synergy frame (3 total)
D. two Image Streamer modules in frame 1 (2 total)

Answer: B

Reference: https://www.karma-group.ru/upload/iblock/2be/synergy_image_streamer.pdf (page 7)
Question: 83

What must an integrator do before an existing cluster can be imported to the HPE Composer?
A. The vCenter Server must be integrated with the HPE Composer
B. The cluster must be vSAN enabled
C. The HPE Composer must have at least two management interfaces to connect to the cluster
D. The cluster must be enabled for HPE Composer integration

Answer: A

Question: 84

During an initial setup of a Synergy environment, an integrator needs to enable or disable authorized Service access.
What will be the outcome when the integrator disables this service?
A. Authenticated administrators will be unable to make changes to the system
B. Authorized users will be unable to generate a support dump



C. Authenticated administrators will be unable to access the system
D. Authorized support will be unable to diagnose the system

Answer: D

Reference: https://support.hpe.com/hpsc/doc/public/display?docId=emr_na-c05098314 (62)
Question: 85

FILL BLANK
A customer has the following configuration:
Frame 1
• Bay 1 – HPE Synergy 12Gb SAS Connection Module
• Bay 2
• Bay 3 – HPE Virtual Connect SE 40 GB F8 Module
• Bay 4 – HPE Synergy 12GB SAS Connection Module
• Bay 5
• Bay 6 – HPE Synergy 10 Gb Interconnect Link Module
Frame 2
• Bay 1 – HPE Synergy 12Gb SAS Connection Module
• Bay 2
• Bay 3 – HPE Synergy 10Gb Interconnect Link Module
• Bay 4 – HPE Synergy 12Gb SAS Connection Module
• Bay 5
• Bay 6 – HPE Virtual Connect SE 40Gb F8 Module
How many more frames can the customer add to their Synergy composable fabric? (Note: Enter your answer in the answer field
below.)
A. See explanation below.

Answer: A

Frame 1 – Bay 2 – HPE Virtual Connect SE 100Gb F32 Module for Synergy
(867796-B21)
Frame 1 – Bay 5 – HPE Virtual Connect SE 16Gb Fibre Channel Module for Synergy (779227-B21)
Frame 2 – Bay 2 – Brocade 16Gb/24 Power Pack+ Fibre Channel SAN Switch Module for HPE Synergy (K2Q86A)
Frame 2 – Bay 5 – HPE Synergy 4820C 10/20/25Gb Converged Network Adapter (876449-B21)
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